Sanity-Check for press.nc

Var: press
NZ: 0
press min press max
[Min: -1.92e+00 [Min: -1.92e+00
400 max: 1.20e 400 max: 1.20e 50
mean: 4.37% mean: 4.38%
{std: 1.19e+01 {std: 1.19e+01
350 q_2:-2.39e-01 350 q_2:-2.36e-01
q_50: 4.88e+01 - q_50: 4.89e+01 40
300 4q_98: 5.08e+01% 300 4q_98: 5.09e+0
250 A 250 A 30
200 A 200 A
L >0 - 20
150 4 150 4
100 - - 10 100 A - 10
50 4 50
-0 -0
0 100 200 300 400 0 100 200 300 400
press mean press mean - distribution
[Min: -1.92e+00 ]
400 max: 1.20e
mean: 4.38% 10* E
Jstd: 1.19e+01 ]
350 q_2:-2.37e-01
q_50: 4.88e+01 -
300 4q_98: 5.08e+01% o
O
[ 3
250 - o 107 7
5
200 - O
- 20 o
i o
150 % 10?4
100 4 - 10
50 4
-0
0 v 10*




